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ENsTRUOCTEOMN. Auswer all questions in SECTLON A and three others from
SECELON B,

SECT RGN AL

b —msmmems sudrotads the auetsie of an atom?

2. Neutrous of wir atoin is charncwerized R

Mo — i e colstitutes the nass number of atoimn?

Ao Nious with the sante proton/electron but different neutron are ——-— 2

Soaven an adem 2310

87 Whut are the atomic Noy No. ol protons, cleetron & Neutron?
O What is the uverage atomic mass of e isotope "I with relative abandance of
205% and isotopie mass of 13 amu and V'R with relative abundance of 79.5%
atid isotopic nuss of 11009 amu?
Zo Fhe eletnest Mg exists in 3 |sulu|,u torins with the following abundances: 78.70%,
T Mg, E9 % \!;ﬁ a:..l (RIS S Mg Calealate the atontic mass of Mg,
8. Fleracat Dexists as D and !:. !!1-. .ltunm' Liss iy 39 -I‘w'\.unu ( wleulate the
abrelanee it ghe exact satopic mass of "1 is 34,9689 and ikt of 7B is 36,4959,
Yo An orbilal is detined as -oooe—aeee.
T e i e sy mbod for the principle gquantonm wamher?
Vi, Mathewatioal relation for nrdmum sunmber of electrons in an 2000 ——m————-—-- :
B2 hbcetvons in cach subosivell Loy e oxaetly (e Sanie ——m- e oo
Ei Whiat e ihe possible Lovalues and ty pes of orbitad with K cqual to -
b, - e velers to the way electrons Gl the sario s encrgy fevels?
I Virile the sevactures of two atoms wiih {ua) \iu"ir boud () doubie bond.
(AT lnl.tln TTH e ..iulll has 2 clectrons in the 1Y energy level, 8 in the 2™, 18 in
the 3™ and's i tiie 4™ What are the () atomic nog (bmo S electrons, ¢) tetul no. of
P efeetrons . () ne of 4 electrons and no. of Drotons,
F7 Atouas cute together (o atiaie stabie condtguration with -— clectrons in the
Guterinost sl
i Wit is the Cleetronic configurstion of Zn (20)?
VY whiak is a coordinave covalent bond. Using piosphoric acid (H 045 as an
exariple, show the stenctare of a covalent houd indicating the positizn of the
coordinste beed and why?

20 P wo examplos of polyaomic ions aie -~ g =,

"l A mteasur? of atlraction of atoms tor cleetrons is —emveee-

220 What Kind of boud and pui: nl" L\.\I~ in (a) H.0 (b) C12 {L) s ul; ek il the
ciccbronegabivivy values of =21, K= 0.8, Cl=3.0,0 =35 aud C = 2.5,

2 Covadeni boads with o t'lt.t‘ll anegativity diffeceace are v uiurud A8 —mrmmmes =

24 What is solability product and write the solubitity consiants of Agel and Apy l*{}‘



25, Taue solubsitity product of Azel = 2.8 <16 -"inol * 17, What is the solubility of
Seck: i pure water?

s i the solability product of Ph SO s 1.3 8 10-8. What is (ke concentyation of
PO, in g/l (P = 207.19,5 = 32 and 1) = 16).

cAsanaple of ard water has a caleiunm concentranon of 107 mol™. Caleulate (e
tsdmum conceatrsiion of the Muoride fon that can be obtained for the w ater,
avsumzing the solubility produet of Calsis 1.7 x 107"

28 Dewernar the exidation numbers of () Crad and CsH:0H .

2%, Bulance the redox equation Zi + 2N05- - Za' + Noll .

3005 vite the equilibrium constant of the reactions

() 2507 (@) | 02 (L) ==== 280, (2) {b) Br: (1) === Brs (g)

FE Elewemts are aveanged in ovder of their aiemic awinber in g periodic table in

sOeh iway as o show the elemments that -—--—-

[
P

P

S200 he periodic faw states than the properties of eleaents depend upon --—-

3. Colunins wod rows tisa periodic table are termed -—-—-- aid -—- yespectivedy.

34w and (n-1) d electronic conligurations are characteristic of which block
clements?

A5 A5 we move Tron beft o the right of 4 periodic table elements progress from - to

6. 1 block elements ave made up of whick giroup I elements.

37,5 group elenents have an outer electronic confliguiration ol -— and ---.

38 Why du clements inany oae group behave similarly?

39— Block clements ave eharacterized by s condensed electronie conliguralion of
ws” {n-1) dy

A0, How ey wnpuired dectrons ave presene in the Tollowing traasition clements.
N (260 Y (W) wnd 7(28).

SECTTION B

Za () What de you woderstand by the term erganic aeids (i) Wit appropriate
clicanical equations illustrate two important reactions of organic acids.

(WM rite short potes on the following (i) Wases (i) Fatty acid (iii) Esters
(iv) Suposification,

Fo Gy With simple equation show = Wat happens when a moleenle of water is split

froms 2 mslecsles of aleobiol using a debiydiating agent e.p H-S04
(b)) Bowweraie 3 industrial, biological and Laboratory usds of ether?

4. u (i Friacylgly eerols ave said to be the major reservoir of Fatty seids in maamals,
Explain? (i) With appropriaie chemical equation show (he process by which
Latly acid can be made wvailable to organisins from triscylgly cerol?

(b} Listilirer important functions of fatty acids in manimais.

S ) Write shortnotes on 4 of the lollowing (i) fonization energy
(i) Flectonegativity (i) Lonization radius (iv) Activation Cnerey
v ) Pertodic table

(h) (i) Distinguish betweer: atkatine metal and alkaline earth metals ii Group O
and groap 2B clements.
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